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700x5 =3500 200x9 = 1800
(GtEn Lo =) (GtEn L)

700X 5=(7X5)X |00=3500

600x2=1200
GtEO Lo 1)

600X 2=(6xX2)% 100= 1200

200x3 =600
GHED LH7)

200%3=(2%3) % |00=600

q900x 6 =5400

GtEan Lo r)

JOO X 6= (9 X 6) X 100=5400

700x8 =5600
GtED LH7)

200X 9=(2x9)x |00= 1800

500x4 =2000
GtEO LA7)

500X 4= (5% 4)X |00=2000

300x8 =2400
GED L17)

300X 8=(3X8)X100=2400

800x4 =3200

GtEan LHr)

800X 4= (8% 4) % 100=3200

600Xx5 =3000
GtEn LhF:)

700X 8=(7X8)X 100=5600 600X5=(6X5)X 100=3000

A PR NPE - RPEES ORNSE TR A

BiE a.com ETOFBETVU> bWebY - M SEN TS D> O—- RTEFET,



